Aire et Périmetre de Triangles (I)

Trouvez I’aire et le périmetre de chaque triangle.

h=62.9 mm h=8L1pi
82.1 pi 88.1 pi
]
67.9 mm 47.5 pi

h =60.4 km

88.3 pi 84.2m
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Aire et Périmetre de Triangles (I) Solutions

Trouvez I’aire et le périmetre de chaque triangle.

h=81.1 pi
82.1 pi 88.1 pi
]
67.9 mm 47.5 pi
A =2135.455 mm” A =1926.125 pi°
P=217.3 mm P=217.7pi

h =60.4 km

83.3 km 19.6 mm
A = 2515.66 km? A = 158.76 mm?
P =236.3 km P =603 mm

h =089 pi h=60.4m

105.2 pi |69.5 pi 627m/ 90.5 m

-

i_l
88.3 pi 84.2 m
A = 3041.935 pi’ A = 2542.84 m?
P =263.0 pi P=237.4m
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